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I am right. (Add Question Tag)

A)don'tI? B) aren't1? C)did1? D) None of the above
Herelh % since 1994. : _

A) is teaching B) taught C) was teaching D) has been teaching
There is a fan exactly ........... the table.

A) on B) over C) above D) of

They sell TVs here. (Change Voice)

A) TVs are sold here, B) TVs will be sold here by them

C) They are sold by TVs here. D) They sold TVs here.

Quixotic (Choose synonym)

A) embarrassing B) entertaining
Retaliation (Choose Antonym)

A) admonition B) retort

If the driver had ben careful, the accident ................ .

C) foolish

A) would be avoided B) could have been avoided C) was avoided

avoided

Local train is ............. vein of Mumbai city.

A)a B)an C) the

Use correct preposition.

Everyone ............... him. .
A)laughed at B) laught at C) laughed to

Find out principal clause in the sentence.

I know the man who said that this would happen.
A)Iknow theman B) who said
Find out correct meaning ofthe phrase 'by dint of’

A) gradually B) by any means C) by virtue of
Correct meaning of 'over head and ears'
A) completely B) thoroughly
Choose the appropriate alternative.

C) impossible

Remind me ......... this note tomorrow in the afternoon.
A) of B) about C) towards
Please attend ............. your own work.

A) to B) at C) with
Choose the corect spelling.

A) Gazatte B) Gazette C) Gazete

Find out correct part of speech.

Our blessings come from above.

A)Adverb B) Preposition C) Adjective
Select the type of sentence of the following.

Please switch off the fan.

A) Declarative B) Assertive C) Affirmative

C) disintegration

D) chivalrous
D) reconciliation

D) might have

D) none of the above

D) laugh to

C) that this would happen D) None of the above

D) at the last moment

D) in addition to

D) with
D) on

D) Gazet
D) Noun

D) Imperative
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Fill in the blank with the suitable alternative.

Thave ............ a good leson this time.

B) learns C) learn
Arrange the words alphabetically and state the fourth word :
Hear, Hair, Heel, Hare

A) Hear B) Heel ~C) Hare

WSS GIiaTE smdaa! (Plural) 915G fae.

A) lises B) louse C) lice

farogreff ereg aiawaT — ripe

A) new B) raw C) many

Ty quf .

He is recently elected as .................. M.P.

Aa B) an C) the

e gafarg ot @ @i TgvaT 3T ard A Sk fee.
+ A)rabbit-barn B) pig-den C) dog-kennel

fReSean A& AR g PR ? 90,000,000

A) A million B) Ten million C) Ten billion

Find out the word spelt correctly.

A) generosity B) generocity C) genrocity

D) learning

D) Hair
D) lices

D) rise

D) of
D) bee-nest
D) A billion

D) generasity

WSB! DIV A5 STBDHR ATE! ?

A) 3R B) @it C) 9% D) I9&
“'efenr’” a7 aregran Rogreff geg svar ?
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TSB! gehrdT el e,

A) ST AT - Fiel HRH
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B) RIS — I IHSNT
D) rarefEifieT - W SR
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